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A B (A-B) /B A B (A-B) /B
AT 86, 254 86, 807 A 0.6 E B A 2, 201 2,137 3.0
& 79, 050 79, 311 A 0.3 kK % Hr 2,578 2, 756 A 6.5
KEM@AH 14, 352 14, 284 0.5 @ i85 AT 2,835 2,776 2.1
ABB KT 27,306 27,538 A 0.8 & AT 1, 669 1, 650 1.2
B A H 5, 828 5, 795 0.6 IN kT BT 1,835 1, 855 A 11
85 18 17, 396 17, 472 A 0.4 % F AT 2,423 2,443 A 0.8
B )i 7,484 7,657 A 2.3 K ET 1,993 2,053 A 29
TG 9,713 9, 831 A 12 9 A M7 4,263 4, 261 0.1
N & & 14, 222 14, 642 A 29 B g 1,362 1,401 A 238
El il 4,031 4,232 A 47 K TI e RT 2,100 2,195 A 4.3
X )l & 3,776 3,880 A 27 X K BT 1,509 1,589 A 50
T ® 5, 498 5, 607 A 1.9 = )il BT 1,954 1,987 A 1.7
Ui} 3,411 3,483 A 21 E & 2,016 2,035 A 0.9
R 5,437 5, 164 5.3 i B RT 2,975 3,122 A 47
N ER 4,345 4,357 A 0.3 % B BT 2,007 2,038 A 1.5
HEHH 5, 444 5, 250 3.7 JIl i HT 3,267 3, 450 A 5.3
EH® 5, 807 5, 757 0.9 X 1 BT 1,629 1,648 A 12
RE i H 4,735 4,412 7.3 & # 1,158 1,194 A 3.0
=g H 8,673 8, 580 1.1 & = Hr 5,735 5, 770 A 0.6
AR 4,292 4,313 A 1.9 X B AT 113 225| A 49.8
HEH 4,128 4,049 2.0 FX0 CHT 4,355 4,489 A 3.0
(I i) 5, 947 5, 837 1.9 ] 1,140 1,164 A 21
pR-ar il 5,817 5,979 A 27 + £ 8 2,687 2,764 A 238
EEM 4,578 4,516 1.4 % Ay 4,073 4,191 A 238
E B W 10, 076 10, 461 A 3.7
BHA® 7, 495 7,707 A 238
HXOFEH 6, 730 7,076 A 49
% B ™ 10, 822 10, 607 2.0
BRI ) 1| BT 3,106 3,221 A 3.6
F X HT 3,142 3,103 1.3
& E AT 3,084 3,041 1.4 SEt 165, 304 166, 118 A 0.5
= R HT 2,516 2,402 4.8 26 T &t 207, 340 208, 546 A 0.6
A B HT 2, 406 2,395 0.5 32BT 5t 75, 888 76,978 A 1.4
o= A7 1,148 1,086 5.7 b8 T A1 &t 283,228 285, 525 A 0.8
A 1l HT 670 702 A 45 60T BT 41 51 448,533 451, 642 A 0.7
B Hr 1,938 1,836 5.6
X AEETIE. BERABERN EERMBAEEOH) .
X MBI EYERAEDEVI ERB D,




